


Rotation — Set 2

Four point masses, each of mass m, are attached to a rigid massless rod that makes an angle 0 with the
axis of rotation. Let L, = 2L,.

a) What is the moment of inertia of this system?
b) What is the kinetic energy of this system if it's rotating with angular velocity w.

=~
[
N
=

>‘5‘P

smhent o)
“m(Listwh + Oz + ()Lt B
L (5L stw®)

s Y (R RN GREL)

UST Physics, A. Green, M. Johnston and G. Ruch




Rotation — Set 2

Calculate the moment of inertia of a uniform bar of length L and mass M about the axis of rotation
shown.
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Rotation — Set 2 4

Calculate the moment of inertia of the bent rod of mass M shown in the figure below. The rotation axis
is in the plane of the "V" bisecting it at the vertex. The rod is bent at an angle 0 and each leg has a

length L.
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Rotation — Set 2

Calculate the moment of inertia of a uniform bar of length L and mass M about the axis of rotation
shown. '
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